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READ THESE INSTRUCTIONS CAREFULLY
1. Youhave been given this question booklet and a separate answer sheet. The question booklet contains 50

.-é’

questions,

{85 ]

Do any necessary rough work in this booklet,
When you have chosen your amswer. mark it on the ANSWER SHEET, not in the guestion booklet.
HOW TO USE THE ANSWER SHEET j

-

k. Use an ordinary pencil.

I

Mahe sure that you have written on the answer sheet:
YOUR INDEX NUMBER
YOUR NAME

‘ NAME OF YOUR SCHOOL
6. By drawing a dark fine inside the correct pumbered Doses ninrk your full Index :
Number and the three-ligure Candidate’s Number) in the prid peir the top of the answer sheet.

Nunber (i.e, School Code

7. Do not make any marks outside the boxel e |

8, Keep your answer sheet as clean as posgible and do fiof Told it, | |

9. Lor each of the questions 1~ 50; four AnNgwors d&gi\'u{:rhc‘“dm-u.. are lettered A, B, € and 1). In each
cusc only ONE of the four inswers is dorrect—Choosc the correct answer.

10. On the answer sheet the correet answer is 1o be shown by drawing a dark line inside the box in which the-
letter you have chosen is writlen, 2
Example
In the Question Booklet:

In question 16, choose the word swhich means the same as the underlined word,
16. Wehave no option but to work hard in life.
A. Chance
3. Interest
. Choice
. Benefit
The correct answer is (C)
On the answer sheet:
EJ\"B"CIIDf 'AllBllﬁ'Dl m tA B G --mIA!IBHCIID' |A,\[§:|C.‘:[).
In the set ol boxes numbered 16. the box with the letter C prinfed in it is marked,

Ho Your dark line MUST be within the boy.

12, Tor each question ONLY ONE box is to be marked in each set of four bo XU,

This question paper consists of 7 printed - pages.
Candidates should check the question paper to ensure that all
the pages are printed as indicated and no questions arc missing,

Yebsite: jos b ; 2
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e & Jeswra Publishers <= Vidnation Buosters 11840k 079167718 0701545759107 5 12075 1 1 TURN OVER




_affected him. This
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o Rewd the passage below and then answer questions 2640 38 -

It was unaceeptable forone to cut for himsella picce of meat while given aduty of slaughtering an
animal, 1t was taken that a person slaughtering an animal cannot go back home and feed on *herbs™;
those bitler tasting traditional vegetables. The portion the slaughterer was (o cut was equivalent to a
Kilogram of'meat for himself and hal kilogram cach for his two assistants. llowcvcr some slaughtcrers
lack o keenness went overboard and almost landed them in troublc.

4 - Koyiw: as assigned Lo slaughter a cow ata village elder’s funcral. He took the assignment happily:
= . for not only was he going to be paidin cash but would also be allowed to cut a picee of the meatas per

s lhc lmd:tmn Ilcthcwlm »arvived at the home early enough with his two assrsmmsm tow. They looked

TOU .‘tlmug.h they smiled back at whoever greefed them.

Sldug.hlcruu, was usually-done-outside the home, HPLLIH(.d“y along, !hc feneedn a shadcd arca.

o Only a hand lui[ people were allowed there us-some could end up-disappéaring with the meatto-their own -
homes: Therefore, when Koyi and his two assistants started the work, only two othermen were standing
oyl nc;d to them. Neitheravere their seryices needed nor were they invited., bikc-w*i:é{éﬁit was rudeto sendam -
i — ‘adult who went (o such a placc to go-away. It was bc!lcved theykncw what to do bettcr. 5
* Koyiwas experienced inslaughtering and i in I.Gb!i ﬁh"anﬂnhour the whole cow had been’ dlsmunbcru.!
§ USmg axes, they glmppcd ]arg.: bones-: mta piccesito-ease culting into small ‘cookable picees by those
Sh dsstgn(.d to cook. It was 'vhma W h<, mlscd hcll whe ';h;, Ll'umcd that huLc c.hunl\s ol ﬂn meat were

z i “In-a short spamoftime. K())l W fs’ bcm e dzi W, spcuﬁc partﬂ oi the sl‘lughtcrud

BTy .umnal they had cut-for themselves. lha, Em.claljﬂ oo i ér ableythe size'thatthey were allowed o=
gbﬁ‘me oc&%men cslabhsh lh(, mlrat.ulous dlsappcamm-c

O

“pay- lhcmscl\'m with. Aninter m;,dlmn El
ol lhgm{..ll and it sccmcd to pointan clLLll.‘:ll‘lb lmg,ur a’l the: lwo olhu mch who had’ bu:n wat;.hum this’

— waorking Leam./l'wo men werce dispatched to hunt them down and Jusl unpcucd lhcv wcrc iound at

e . .. i ~bthune1 al pld(.C-\ snlxngmear thecooking arca, Unon hunL threatenedavith it lhorough beating ifthe
m:ssmg meat awvas not rccovcrc.d they conlessed thatindved. they bad theancat and h;ddcn lhcm 10

h‘ e

shurc between themselves, i = :
~'They wwere fmynmtchcd 0 lhc .s{;:nc Iy rct,n\ er'tiw modl \ size |hlc crowd: m*t]or:ly of lht:m

R e ¢
i

daein;, » children.was following (o witness thmnccwf.w o)
heard a coupleof dogs fighting overthe stafl ’rﬁtg-. that el pHCasthey dcm:cd it Theytook el Fupori: -

e
looking at thun,

-—‘-Q..,-_-,gez-,mgme[ gto_ppc.d _;ua_f,u ,shpﬂ.dmlz:-ntc uway lon!um, at llu ten \\hu 100 Were.

£ RIS o

|

5 26 1l a person was g.wcn work ol’ sianghlcung 27 A\ ¥ Im dcudcd 1Iul l,hc Qlclughlucr had~m bc
: an animal. he would” : gn o SOme mcu!" R
.. A. eutapicee forhistwo ussistants. A Ananonymous source.

: I%. The ownerof'the ammdl
e shaughterer himself
I). 1he bereaved family.

B. nolonger cat vegetables.
C. followagiven lonnui,. to gethis

portion. .
0. ensureeachol them got a kllog,mm of
the mcul. _ 3
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the slidughterer and hiy two L 33, Koyi manuged to dismember the animzd fast
}mﬁ\'ﬂ'ﬂ o ~because he

LN size due thi er‘k 3 A, was suspicious of the two men.
onthow-much work cach did. B, was not doing the job for the first tine,
ded on the sizc of'the animal, . wasinterested in getting his share st
onupon completion ol the | D.  had other duties clsewhere.

© o] 34, tud they not chopped the big bones with

,IAd.

xS,
1 o A theeooking could have akm ashiorter
% 'lmmuh\\hcr'!h(.)' : lime.

- _B. there would have been no loss ofmeat,
.._Au. Fhey :.I.mglucrud mmmls tlu,y wen.‘ not]|  C. theburial c.crefrjmy would bave beco

u\m - e P
- D. theeffeet would have been [elt by the
cooks, : :

s

| 35 thn Maria raised alarm zlhuutllw qu:ml'
5 Csomcmeut, :

A, everyone ‘rebuiked hcr lur lwlm_ e
. drouble-shooter. = - “ : B
B it was because she h.ld \wmuswd lhc
lhullut ‘meat..

mls Lli% issed but provu: i u,hl S mn

Ir

syt it B iy

s ;:3_- "'ﬂgf— T
asC. T f’iﬂ' uw slaugm;rml

‘\i%hﬁl umc du you 1l1mie i‘vm t’hc mcat i s o e

P e ‘.’_ # dguri e ol 3

pmml 10 ;Iu: i

asgouq as r-l teachx:d {hu—mat.;ng. ared; - -

c._ﬁ"wﬁl',fe Kﬂyt st' ﬁlaugﬁe’fﬂfb e -
38 “In lhccnd we Ic.;m tlml o A -5‘} e -
A 'Marh was. praw.d;{ur &m% kétn.- ': .' T
B itsthe dog.-a;iutlmd,s‘m}urthcmd
%lhc stolen meat was never recovered.
L ._ifmmoﬂuew!esadnnfm stuhn;, the
-~ mcat,

Wk ,t;.mm
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KISWAHILI
SEHEMU YA
KWANZA:
LUGHA

JARIBIO LA NNE K.C.P.E
DARASA LA NANE 2022

Muda: Saa | dakika 40

SOMA KWA MAKINI MAAGIZO YAFUATAYO
I Umepewa kijitabu hiki cha maswali na karatasi ya kujibu. Kijitabu hiki kina maswali 50,
Ikiwa utataka kuandika chochote ambacho si jibu andika katika kijilz'lbu hiki.
Ukisha chagua jibu lako lionyeshe katika KARATASI YA MAJIBU na wala sio katika kijitabu hiki cha

maswali,

JINSI YA KUTUMIA KARATAST YA MAJIBU

4. Tumia penseli ya kawaida,

>, Hakikisha ya kwamba yafuatayo yameandikwa katika karatasi ya majibu:
NAMBA YAKO YA MTIHANI
JINA L
: AL ‘l‘-iULi’fhyf\K()
6. Kwa kuchora kistari katika visanduku lvyenyegna ”i-« inas;ol)lﬂmsu. onyesha namba yako kamilj ya mtihani
. ¥ ¥ RS BL 1.0 1 Vi #
(yaani namba ya shule. Na 7ile nambay(atj v Nipiwa 'd}] 4 schemu iliyotengwa mwanzo wa Karatasi ya
majibu. : v i e
pt E w-m-v_\; ‘ﬁ,u.-uw ‘-‘;
7. Usitie alama zozote nje ya visanduku. i m%\%u%wﬁ g
2]

SR |

Iweke sali karatasi yako ya majibu, '

Kwa kila swali | - 350 umepewa majibu manne. Majiby hayo yameonyeshwa kwa herufiA, B, Cna D, Nijibu
MOJA tu kati ya hayo manne ambayo ni sahihi. Chagua jibu hilo. v
10. Kwenye karatasi ya.majibu, jibu sahihi lionyeshwe kwa kuchora kistari katika kisanduku chenye herufi
uliyochagua kuwa ndilo Jibu,
Mfano
Katika Kijitabu cha maswali:
11. Shairi lenye mishororo minne katika kila ubeti ni
A, tathnia
B, tathlitha
C. tarbia
2. tathmina
.y g e . o . 't
Jibu sahihini C (1arbia)
nIAI\BMCIIDI mlAllBilﬂnlDt mll\llﬁHCHD\ mlAHBIICHD\ mIAIIBIIClIDn
Katika visanduky vinavyoonyesha majibu ya swali namby |1, Kisanduku chenye herufi € ndicho
kilichochorwa kistari,
L Chora Kistari chako vizuri, Kistari chako kiwe cheusi ng Kisijitokeze nje ya kisanduhu
P20 Kwa kila swali, chora Kistari katika kisanduku kimoja tu kati ya visanduky vinne wivvopews,
- Kitabu hiki ¢ha maswali kina kurasa 8 zilizopigwa chapa
Watahiniwa ni lazima wahakikishe kuwa Kkurasa z0te za karatasi ya
mtihani zimepigwa chapa sawasawa na kuwa muswali yote yamo,
Tovuti, WWw jesmapublishersitd.com Boarua pepe: icwn:tpull!ihlwr.\m‘_\';\hnu.cmn
004
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Soma vifungu vifuatavvo. Vina nafasi 1 mpaka 15, Kwa kila nafasi umepewd mafibi manne

hapo. Jaza kila pengo kwa kuchagua jawabu lifaalo zaidi.

Kumpeleka mtoto shuleni 1 milango mbalimbali 2 . 3 mambo ambayo mtoto

h“.\‘llhUjil‘Lm'/:lni“__5___'/11l\'lll\':lhi“lmuI‘lllcl‘lill‘lglll‘nnlu_S_muisll:\,__m(!__,_\'c)clltl‘|l[lll17:I]\’:W.l

+aulundi kKamavile 7 ambayoni kaziya _ 8  vyuma.
Y . : b L -

I. A kungemfungulia B. Kutamfungulia C. humfungulia 1. inamlungulia
2. A kwamaisha B. maisha yake C. katika maisha D). maishani yake
3. A Katiya B. Baadhi ya C. Dhidiya 3. Mbalina

4. A taaluma B. stadi C. maarila 1. ujui

5. A cha B. na 5. kwa D,

6. A Aidna B. lhali €. Japo D. Ingawa

7. A. usonara B. vashi - C. ukarabati D. uhunzi

8 ifchgeza D. kukata ‘

« A kuvaa 3. kufua
. E{
Kila mmojawetu __ 9 nahan vakuufanya mtihani wa 11 wa darasa1a

S —————

nanc. Walimu nao ___ 12 mapema __ 13 bila shaka waliclewa kuwa __ 14 Tlata __18§

ukumbini humo. nilijua kwamba matokeo yangu yangetegemea jinsi ambayyo ningemakinika katika

kuyajibu maswali yale. i

9. A. wlikuwa B. nilikuwa C. alikuwa - D). walikuwa

10. A. an . B. hakika © (. shaka 1. mori

11, A kimaaifa B. kitaifa C. taif D. mataila

12. A \\'uxnékln\\"a ‘B. wangekuwa C. wanakuwa D. walikuwa

wakituandua ‘ wanatuandaa wametuandaa wametuandaa

13. A, B. ; : C. 5. D

14. A. cheche yamoto huchoma msitu 1B. mchelea mwana kulia hulia mwenyewe
C. msaliri ni aliyc bandarini . maji va kifuu ni bahari ya chungu

15. A. nilipoingia B. nili\’_\'oiﬁgia_ C. nilimoingia D). nilikoingia

o
DRS LA 8 KISWAHILI 004 2022
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Kuanzia nambari 16 mpaka 30, chagua
jawabu lifaalo zaidi katika kila swali.

16. Chagua sentensi sahihi kisarufi.
A. Jirani amenunua kabati ingine mpya.
BB. Jirani amenunua kabati nyingine jipya.
C. Jirani amenunua kabati nyingine mpya.
D. Jirani amenunua kabati lingine jipya.
17. Andika wingi wa sentensi ifuatayo.
Uta wa msasi uliangikwa ukutani.
A. Uta wa wasasi uliangikwa kutani.
B. Nyuta ya wasasi iliangikwa kutani,
C. Nyutaza wasasi iliangikwa kutani.
D. Mauta ya wasasi yaliangikwa kutani,

18. Buibuinikwa utando kama vile mehwa ni
kwa;
A. Kishirazi
B. Kizimba
C. tundu » i’“
. zcriba L !
9. Mancno yaltyopigivamasian i - L~

Omar ametunukiwa tuzo hiyo tc‘n’;.““'_“
A. Kiclezi, kiwakilishi
B. Kivumishi, kiclezi
C. Kivumishi. kihusishi
. Kiwakilishi. kicle
20. Nineno lipi lenye herufi mwambatano?
A. Mfuko
B. Lewa
C. Kamba
D. Yaya °

21.

Ipi ni kauli ya kutendewa va senlensi.
Kijakazi aliingia jikon akapika mchuyi?
A. Kijakazi alipikiwz qmchuzi Jikoni.

3. Jikoni kulipikiwa mehuzi na kijakezi.
C. Kijakazi alipikia rachuzi jikoni.

D. Jikoni walimpikias &ijakazi mchuyi.

—

22,

Nisentensi ipi yenye kiambishi ki cha namna?

A. Kitoto chake kililia kwa sauti.

B. Timu yetu ilipambana kishujaa,

C. Nilimwona akilima shambani mlc.

D. Kiatualichokinunua kimeshonwa vizuri.

23. Kanusha: Gari ambalo lilinunuliwa limeanza

salari.

A. Gari ambalo halijanunuliwa halijaanza
safari. : )

B. Gari ambalo halikununuliwa halikuanza
salan.

C. Gari ambalo lilinunuliwa halikuanza safir.

D. Gari ambalo lilinunuliwa halijaanzz safari.

24,

% kwa maneno ni

A. sudusi sita
B. tusuisita

C. tusuitisa
). sudusi tisa

ol

— AU -mE
B. Kicheko - mcheshi
- C. Mvumilivu- vumilia
D. Kilimo- mkulima

26.

Shumbi ni kwa mchanga ilhati Kipeto ni kwa
A. mlama

B. nyuki

C. dania

D. nyanya.

27,

Pamba ni sufi yammea iliyo nyeupe na laini,

Pamba pia ni _

A. chakula au masurufu ya wakati wa safari.

B. shindana kwa maneno ay vitendo kama
vile mchezoni,

C. onyesha tofauti ya mambo waziwazi.

D. kitu kinachovaliwa ay kupakwa il
kuongeza uzuri. -* -

1
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28.

29.

30.

Sentensi ‘Katule ni kasuku® imetumia
tamathali gani ya usemi?

A. Msemo

3. ‘lashbihi

C. Sitiari

D). Nahau

Chagua sentensi iliyo katika wakati uliopo
hali isiyodhihirika :

A. Wewe unacnda mjini,

B. Wewe huenda mjini.

C. Wewe umeenda mjini.

). Wewe waenda mjini.

Mpanda ngazi hushuka ni kwa mtu
anayevimba kichwa kutokana na mafanikio.
Jogoo la shamba haliwiki mjini ni kwa,
A. anaycewatukuza walio karibu na kwao.
B. anaycjifanya bingwa akiwa mbali na
kwao. '
C. anaycwadharau wanyonge K wad
D.
madogo.

dri

o i

i
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Soma kifungu kifuatacho kisha ujibu maswali kuanzia 31 - 40

Hayawi hayawi huwa. Siku ya safari tuliyozawadiwa na rais kwa ushindi wetu iliwadia. Usiku wa
kuamkia siku hii sikupata hata lepe la usingizi. Matarajio makuu yalinituma kudamka alfajiri na mapema
hata kabla ya jimbi la kwanza kuwika. Hata kiamsha kinywa sikudiriki kukila vizuri kutokana na shauku
tliyonikumbatia. Nilitembea kutoka pcmbe moja ya sebule hadi nyingine kama mtu anayemtarajia ambaye
amechcelewa. | latimaye niliamua kulifungua sanduku langu la usaliri na kuanza kulikagua tena huku
nikihakikisha kwamba chochotc nilichohitaji kwa salari kilikuwemo.

Nilikumbuka ushauri wa mwalimu wetu Bi Tatu. Alikuwa ametuclekeza kuwa tutahadhari tusibebe
vitu vyenye makali kama vile'nyembe au visu. Hakusahau kutukumbusha tuhakikishe kuwa mizi goyelu
haizidishi uzani unaokubaliwa katika ndege. Mimi binafsi nilikuwa nimeupima uzani wa sanduku langu na
kuhakikisha kuwa lina uzani ufaao. Kadhalika nilikuwa nimezihifadhi stakabadhi zotc za usafiri ndani ya
mkoba mdogo wa mkononi.

Hata basi lilipowasili kwenye lango letukutupeleka kwenye uwanja wa ndege. sikuacha kumshukuru
Mungu kwa ushindi tuliopata katika mashindano ya‘kilai fa ya michezo ya kuigiza. Kwa kweli ushindi
huu hatukuupata tu. tulikuwa tumechanika kwenyc mpinir. I ,ililoﬁipu fahari kuu ni kuwa mimi ndimi
niliycubuni mchezo huu chini ya uclckezi wa Bi 148, Lilj

yake. pamoja na yaliyomo. Mchezo wee

likabila. Mhusika mkuuwa meherzo huu
ma. Mwishoni mwa mchezo, waziri huyu

s kuutazama mchezo huu kwenye ikulu,
alitutunukia safari ya ng’ambo.

i

Tuliwasili-kwenye uwanja wa ndege saa mbili asubuhi. kila mmoja akiwa hoi kwa bashasha.

Hikuwa kioja kwa wengi kuuona uwanja uliorembwa kwa ndege za kila ain

g

anakimo. Wengi wetu
tulikuwa tunaziona ndege zikiwa juu angani, hili la kuweza kuingia ndani, sikwambii Kuingia ndani,
hatukuwahi kuliotea! Hata tulipoagizwa tupitic kweriye mtambo fulani kukaguliwa, sikumbuki yaliyojiri
kwani macho ya mawazo yangu yalikuwa mbali kule-e-c-c.

Tulipoingia ndani ya ndege mishipa yangu iliganda kwa mshangao kumbe ndani ya ndege huwa na
- runinga! Nilimwomba Bi Tatu niketi kwenye kiti ambacho kilikuwa na runinga yenyc picha ya mtangazaji

‘maarufu nchini. Hata hivyo, Bi Tatu alifahamishwa kwamba hicho ni kitengo cha wasafiri wa hadhi yajuu
zaidi, akaniambia kwamba hata sisi tulikuwa tumetengewa mahali petu. Safari iliiva, tukajifi unga mikanda

ya usalama na ndege kuanza safari kwenyc kibarabara. Moyo wangu uliingiwa na shaka nikajiuliza.

“Kwani ndege huendeshwa kama gari”? [akini gf‘mﬂa nilisikia mngurumo usio wa kawaida na kuona
ndege imetendaza mbawa na kuruka arigani kama nyuni. Hapo ndipo nilijua kwamba safari vang'ambo
kweli imcanza. Niliyaclckeza macho kwenye kidirisha kilichokuwa ubavuni mwangu na kuanza kuyafurahia
mandhari kwenye vilele vya mawingu. ; '
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31. Msimulizi aliamka mapema kwa sababu,
A. walikuwa wametunukiwa salari na rais.
B. alikuwa na hamu kuu ya kusafiri
~ ng’ambo.
C. alikuwa na tumaini kuu la kuona
watakaoenda ng’ambo.
D. walikuwa wamex lmblllld ushindi kwa rais.

32.

Aya ya pili imebainisha kwamba msimulizi.
A. ni mwenye hakika.

B. anatambua maagizo ya salarini.

C. ni mwenye makini.

. andhcshxmu hall yamwalimu,

33.

Kulingana na aya ya tatu,

A. msimulizi ndiye aliyechangia zaidi katika

~ ushindi wao.

B. ushindi katika ng.m ya kllalld ulihusiana
na ukabila.

GE

“hii ushindi wakipekee,  ~

Uigizaji wa wanafunzi u!:hng_,

walivyobuni.

D.

]

mwongozo wa Bi Tatu nd:o uhmpatlmu ,

36.

37

Msimulizi.
A. hakuutambua mtambo kwa vile alikywy

ameduwaa.
B. hakushuhudia kuchunguzwa L\\’:lm

hakuwa makini.
hakuona yaliyotokea kutokana na hamy

aliyokuwa nayo.
hakuwazia yaliyotendwa kulingana na

matarajio yaliyokuwepo.

1.

Kulingana na kifungu,

 A. msimulizi alifurahishwa na kuwepo kwa

mtangazaji kwenye runinga.
B. wanafunzi hawakuruhusiwa kuketi
pamoja na wasafiri wengine.

- C. nalasi zakuketi kwenye ndege hupangwa

- kulingana na mapato ya wasafiri.

- D. -vyombo ya habari hutumiwa na wasaliri

wachachc katika ndege.

Kauli, ‘Kwani ndege huendeshwa kama
M2’ inaonycsha kuwa,

F msemaji hajawahi kuona rubani
akicndesha ndege.

34, Chagua jibu sahihi kwa mujibu
A. mchezo ulishinda kwa sababu uhkdshliu

maovu. ) _
B. Rais alipendezwa na mehezo kwa sababu

ulthimiza maadili.

mada’ ya kushinda |ltchochcw4 na
matendo ya mhusika mkuu.

kutescka kwa waziri kull{Okdnd na
kuchochewa mehezoni.

C.

D.

Ni dhahiri kwamba,

A. baadhi ya wanalunzi hawakuwa na habari
kuhusu ndege zitakapoabiriwa.

B. ilikuwa mara ya kwanza kwa wanalunzi

kuona ndege za aina hii.

walikuwa wamcjawa na mshangao

kuhusu ndege kuliko awali.

-idadi kubwa ya wanafunzi haikuwa na

matumaini ya kuabiri ndege.

35,

C.

1.

6

ﬂ [mlun;_,um/ajl anaona kwa mara ya

39.

40).

kwanza ndege ikianza salari.

- C. msimulizi hakuwezakuwaza kuwa ndege

huonckana barabarani.

D. msemaji anatambua ghafla kuwa ndege

hupitia barabarani kabla ya kunguruma.

“Tulikuwa tumechanika kwenye mpini’
ina maana,

A. ushindi wao ul:lokana na matumizi ya
mazoczi yaliyopatikana mashindanoni,
kufaulu kwao kulitokana na kujitolea
kwao kujiimarisha.

B.

-C. kutunukiwa kwao kulitokana na kujaribu

kwao kufuata maclekezo.
umaarufu wao ulitokana na uzingatiaji wa

mada ilivochaguliwa michezoni.

Maana ya *Kila mmoja akiwa hoi kwa
bashasha’ ni woltc walikuwa na

A. furaha kupita kiasi.

B. matumaini yaliyozidi.

C. mshangao uliowachangamsha.

). matarajio ya kupindukia.
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some makala yafuatayo kisha ujibu maswali kuanzia nambari 41 mpaka 50

Kwa mara nyingine. taifa letu linakabiliwa na uhaba mkubwa wa chakula. Hali hii imekithiri hivi
Awamba wahasiriwa katika baadhi ya macneo wamcanza kusafiri jongomco. Takriban miaka mitatu
thiyopita. hali haikuwa tolauti. Waja wengi waliathirika sana ambapo iligharimu wahisani wenye mkono
wazd kuingilia kati na kuliokoa jahazi. Ahadi zilizofuatia kutoka kwa serikali na mashirika mbalimbali
silituachia hakikisho kuwa hali kama hii isingeshuhudia tena humu nehini.

Je. hizi zilikuwa ni ahadi za Kiswahili au ni lipi hasa liliocnda scgemnege? Mikakati kabambe
llwekwa ya kupambana na hali hii. Kwanza. pesa za kujengea mabwawa katika macnco kama kote
achini zilitengwa. Hata miradi hii iling"oa nanga katika jaribu mbalimbali. [.aibrani kwamba mingi
haijakamilika kufikia sasa. Licha ya fulusi hizi kuclckezwa kwenye mifuko ya wachache, ipo pia migogoro
kuhusu kunakojengwa mabwawa haya. Bei za mashamba zimekwezwa ghafla huku wamiliki wakidai
lidia. Huenda mgogoro huu usipate suluhu haraka. ¢ ,

Baadhi ya waasisi wa mlpang,o hii ni ama wamepigwa kalamu au kuhamishiwa katika idara nyinginé.
Wale wanaorithi shughuli hii pengine hawana habari kuhusu mipango halisi au hawana nia ya kuitckeleza.
Wengi wamezuka na mapendekezo ya kuwa miradi hii ipangwe upya au lh'lmlhhlwc kwingine. Jambo
wasilolijua viongozi hawa ni kuwa wakati ni fulusi na haumngojei hata mwana wa mfalme.

Wahenga walisema kuwa uL:bcbw%Lusll&u g],g,\;)umg:uu lata serikali inapojizatiti kwa udi na
uvumba kukabiliana na hali hii, ni vyerpa wgmn‘ghl W¢ wc nao wachukue hatua za kujihakikishia

: g
salama wao wa chakula. \/io_}d\hlp()i aéhqﬁ%aloﬁ i kajiwekea d}\lbd ya kutosha kwani akiba
haioz.

mh

-.m
.,..

i
:‘m i

= ‘.;

B iy ;

Wanaoathirika sana wakati wa ui&ame'm é}% i kwa sabdbu mifugo huathirika sanana
kufa kwa wingi. Badala ya kuwaacha wanyama hawa kula kibudu, ni vyema kuwauzia wachinjaji kabla
nali ya ukame haijakita mizizi. Darahimu zinazopatikana zinaweza kutumiwa kununulia chakul
mwamo na hata kununulia mifugo zaidi hali itakapokuwa shwari baadaye.

—

a sitkuza

Imekuwa vigumu sana kwa taifa letu kujilisha maddamu wengi wamekipa klhmo mgongo. ldadi y

vijana wanaokichangamkia kilimo ni ndogo sana. Shughuh hil imeachiwa wazec ambao nguvu zao hahlu

haziwaruhusu kuwajibika ipasavyo. Mashamba mengi nayo yamegawanywa kwa shughuli za.ujenzi ili

xikudhi mahitaji ya idadi kubwa ya watu. Isitoshe, walio na mashamba makubwa wanape

ndelea kilimo
cha biashara kama vile upanzi wa maua ya kuuza ughaibuni.

Uharibifu wa mazingira ni changamoto nyinginc. Miti 1mckatwa kiholela ili kupata kuni, makaa na

mbao. Nchi imeathirika nusura igeuke jangwa. Hatuna budi kuepuka mkondo huu na kukumbatia upanzi

wa miti ili kujiepusha madhara. Lau sivyo, tutajigeuza chachandu anayepalia makaa.
Wapo wafanya biashara matapceli wanaohodhi bidhaa ili kuwa na uhab

a wa kuwalaidi. Hawa
wanapaswa kukabiliwa kwa mujibu wa sheria. Aidha, serikali ijichukulic

yeny cchul\umu la kuagizia
vyakula kutoka njc badala ya kuwaachia wafanya biashara bina(si. Sote tuna jukumu la kuk

abiliana na
aa la njaa kwani kinga na kinga ndipo moto uwakapo.
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41.

42.

43.

44.

Aya ya kwanza imebainisha kwamba,
A. nchi yetu hukabiliwa na njaa kila mwaka.

3. njaa ya sasa ni mbaya kuliko miaka ya A.
awali. 13
C. watu wenye nia njia wanachangia C.
kulikabili baa la njaa, D.

46. Mscmo siku za mwambo und maana gan
kulingana na muktadha” Wakati wa

kufarijika baada ya taabu.
malanikio makubwa,
ukoselu mkubwa.

ahadi kutimizwa.

. watu kadhaa wame arllu kwa sababu
ya njaa.

Ni kweli kusema kuwa,

A. ahadi zilizotolewa awali hazikutimizwa.

B. serikali haijafanya lolote kuwasaidia
wananchi.

C. usalama wa chakula ni jukumu la
scrikali pekee.

D). wahisani ndio wanaopaswa kuwalisha
wananchi.

Lipi si kati ya mambo yaliyokwamisha

miradi inayoangaziwa?

A. ufisadi uliofanya mali ya ummal

B. ugomvi katika macnco yal
mabwawa. ‘

C. scrikali kukosa kutenga pesiz
kuendesha miradi.

. ukoscfu wa nia njema kwa
wanaotarajiwa kufaidika.

Kulingana na habari hii, ni makosa kusema

kuwa,

A. kuachishwa kazi kwa viongozi huweza
kuathiri macndeleo.

3. mwandishi ana hakika kuwa suluhisho
la migogoro halitapatikana.

C. kuchcleweshwa kwa miradi >
kumesababisha shida kujirudia.

D. ukoscfu wa maarifa umefanya miradi
mingine kukwama.

Kulinganana aya ya nne, .

A. wananchi binafsi wana jukumu la
kujitafutia suluhu.

13. wananchi wanapoziona juhudi za serikali
ndipo hujikakamua.

C. Serikali ikiwawekea wananchi hatua
watajikakamua vilivyo.

). Walugaji ndio hutaabika zaidi wakati wa

ukame.

Walugaji wanashauriwa kuuza mifugo il
A. kujikidhia mahitaji na kucpuka hasara
kubwa.
13, kulisha taifa na kupunguza hali ya
ukame.
" C. kupata fulusi na kununua mifugo 7zidi.
D, kujikidhia mahitaji na kupata fedha

47,

nyingi.
48. Lipihalijachangia katika uhaba wa 3
chakula?
A. wenye mashamba makubwa kukisusia
kilimo.

-~ kutowajibika kwa vijana katika shughuli
rzakilimo.
3 ikuonf,cxxka kwa idadi ya watu
_-E‘ﬁkundkopung uza ardhi ya kilimo.
kuingilia shughuli mbadala kwa
kupata pesa.

1lengo [a

49. ‘Tutajigeuza chachandu anayejipalia
makaa”’ ni;
A. kukata miti ili kupata kuni. makaz na
mbao.
B. kushiriki matendo ya kujiletea
maangamizi. A
C. kulanyajambo bila kuvajua madharza
yake.’
D. kushiriki upanzi wa miti iJi kuepuka
madhara.
50. Kulingana na aya ya mwisho,

A. serikali imeshindwa kuagiza chakulz ili
kuwaokoa wananchi.

B. wafanyabiashara wa kimatailz rdio
wanaohodhi bidhaa

C. walanvabiashara matapeli wwamekzabiliwa
kwa mujibu wa sheria

D. Juhudi 7a kulikabili baa ia njas sinakiajt
mchango wa kila msziendo
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Whatis 8 090 375 wrilten in words?

AL Eighty million ninty thousand three

hundred and seventy [ive,

ight million ninty thousand three hundred

and seventy five,

C. Eight million nine hundred thousand three
hundred ang scventy five,

D. Eight million nine hundre(
thousand and seventy five,

B.

and three

What is (he value of

918-324+9

4
72 + 4

A 18
B. 36
C." 49
D" 72
What is the value of

4.1 B

3- 2.4 8

7 L
50 | g
= 31
L ,;5 D. 70

What is the value of

0.6 x0.72 +0.04 - 0.81 = dya
A 0.172
B. 0.432
C. 0.472
D. 0.436

What is 8§ 898.997 rounded off (o the
nearest hundredt)y, : '

A. 8899 00

B. 8 898.99

C. 8 898.90

D. 8899.9]

Id__‘

6.

i

8.

¥
&
b HL

S (-
L s FES

———ﬁ__—___—_ﬁ__‘—-____

-ateas [ollows:

I T

—-——_,,_-‘—_,,_—\5______
— ¢ SR TG i
tr \

— o |

The figure PQR below is drawn 1o seq|e.

Q

N\

What is the sizc of angle PQR?
A, 637
B: 57°
C. 840
< 734

What s the sum of the square root 00,00 | ¢

i eh
o a——-'w—uund the squarc.of 0.2?
all;

A 0.04

&1406
024

The table below shows price of food in 4

hotel.
Ugali Chips -

Beef | 220 -

Chicken | 260 ° 320 61 o

Gréens ‘1‘40 180

Iive people went for lunch at the hotel and
2ate ypal greeny

! ate chips chicken

I ate mehely beef

and the last gy, ugali beef,

How much money did they pay in total?
A. Sh. 1 140 5

B. Sh. 980
C. Sh. 1249
D. Sh. 929
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2o,

9 What is the si
. e S SN s ™ :
b 4 plest form of 14. The figure below shows a water trough.
(Bx-y12)+3 2y — x + 4)
A, 15x +9p 20
B. 9x + 2p20
C. 15x +2y+20
D. 15x «+ 10y +20
10, Al ot &, e gl
¢ fractions Q" 9 ’7 and -~ are (o be

arranged from the smallest to the largest.

What is its surface arca?

: 75 6 4 A. 2464cm?
A. 55_,—,— B. Q,ﬂ’z,ﬁ B. 20 064cm?
875 7 39 B C. 11264cm?
. 8 Ah 4 6'5 7 D. 15400cm’
e T T D. =, == s
8 9 5 7 : # b) ) )
- 15. A matatu carricd 14 passangcrs. 5 People

had an average mass of 72kg. 6 people had
11. Karanifenced a Vrcclangulzu'plm measuring | an average mass of 65kg and the rest h'd(! an
260m by 160m using live strands of wire. ¢ average mass of 42kg. If the mass ol an
PU e e emply matatu was 1.2 tonnes. What was
b llle ffnzlss _()l'lhc loaded matatuin kg?

Az 3761\'9

A. 84()113

B. 2100m Pgi
C. 420m , "N'""'E,E 37(')77?]1\*_.1
2 | —— A
o = TTTTD2.076ke
12. The priccof petrol was decreased by 20% 16 L i
and later increased by 10%. What was the 4,/ LSl DORN c.arns arba'src‘ salary Of_ :
. priéc [ihe origihul price was sh, 100 sh. 15 000. He is also paid 4‘%)‘c0mnnss_|(m
per litre? A _ on all the goods sold. In onc month he
A Sh. 80 : . carncd zjl()lul of'sh. 23 000. What was the
l B, Sh. 110 S : valuc of gl1c salcs_ that month?
C Sh. 88 s : A. Sh. 200000
_ l') Sh. 99 : : B. Sh. 460 000
L5 C. Sh. 920 000

D. Sh. 560000

13. Whichofthe following is the next numberin

the chlulciwgl _ . 7 T 17. Whatis the value of
3‘ 5. s J, &0 __,_,_,:‘.._ v
A 34 3k 3o 00)
?- l 3b |
o =t
B & Whena=2 b -':%a ande=a+b
A 12
B. 18
C. 6
D3
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18.

19.

The marked price ofa TV is sh. 40 000,
Adiscount o[ 20% is given on cash
Payment. The hire purchase pricc is 40%
morc than the marked price. What is the
difference between the cash price and the
hire purchase price?

A. Sh. 56 000

B. Sh. 32 000

C. Sh. 24 000

D. Sh. 16 000 -

The table below shows the arrival

and
dcpalurc_limc for buses from Safari

Njcéma
company from town A to E. .
Arrival time . | Depature time
A ‘ 6:30am
B [7:30am 8:00am
C |10:30am 11:45am
D [12:45pm 12:55pnf 7]
E 13:15pm
A How long docs-it take the bus to

20.

D.

21,

lown B (o D? _
A 4hrs 45mins
B. Shrs 55mins
C. 4hrs 55mins
D. 4hrs 25mins

The volume of a rectangular tank is 9.216m?>.
[fthe length is 3.2m and aheight of 1.2m.
What is the length of the width in cm?

A. 2.4m
B. 160m
C. 1.6m
240m

Twelve pupils scored the following marks in
alestand gota mcan of42.5. Eleven ofthe
boys got 38, 36, 39,43, 47,46,51, 41,43,

42and 41, [1ow many marks did the 12th
boy score?

A. 43
B. 42
€. 53
D. 33

5

24.

25.

“22. ‘The figure below shows

to a semi-circle 1o the width and aright
triangle to the length

7900)

arectangle joineq'

angleq

20cm

14cm

What is the arca of the figure?

A. 280cm?
B. 549¢m?
C. 453cm?
D. 626¢cm?

C

4 30! 00l toy

B.
B
D.

4
At Riverbank Aica_demy 5 are boys. During

I -3~ of the girls took part. If

20%irls did not go for the tour, how many

The area of a curved surface of a cylinder is

1320cm?. 1

volume of the cyl inc!qrf.?_ "

A. 55 440c¢

{'the height is 10em. what is the

S0V s ndio
k! 1
m*

B. 6 160cm?

c

. 13 860cm?

D. 2 464¢m?

Solve the incquality below.
*7—x+ 32-< §x .
A j > 3—]~' B.x < 3-‘-
" > . X 5
Coms 7 D.x <7
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26. 'helsosceles triang|e
of64cm. Linc AB=2
_ 24
LincAC=lincCB  C - nownbelow.

A

Zidoh 24cm
hat is the area of the tria g
A. 960cm? “Llc
B. 384c¢m?

C. 480cm?

D. 192¢m?

27, "

thier favourite games at school.

Handball

below has o perimeter:

I'he pic chart below shows how pupils chosc

96°

Il there are 70 more pupils who chosc
Netbal! than Volleyball, how many pupils
chosc v olleyball and handball altogether?
A. 730 ‘ '
B. 360
G YU
D. 480

28.

What  the square root of

| 0.0625 ?

A 023
B. 0.5
C. 0.05
D. 0.025

— - o —

29, The table below shows the charges of

sending both ordinary and express money
order.

Value of Commission

the order Ordinary| Express
Upto 1 000 114 138

1 001-2 500 162 205

2 501-5 000 196 265

5 001-10 000 232 312

31.

32,

Iassan sent two ordinary money-orders.
Onc of sh. 2 800 and the other sh. 7 600.
fle also sent onc cxpress money order
worth sh, 9200. How much moncy did he
pay at the post office?

A. Sh. 19 600

B. Sh, 660

. Sh.740

2} $h. 20340

héKline and Joyleen shared some moncy in

~h¢ fatio 7:3. Jackline got'sh. 24 000 more

A Joyleen. How much moncy did they
share altogether?

A. Sh. 18 000

B. Sh. 42000

C. Sh. 60 000 -

.D. Sh.48 000

A watch loses 5 seconds after every hour.
[

Ifit was sct correctly on Tuesday 2:00pm,
what time will it show the following
Tuesday at 2:00pm?

A. 2:14pm B. 2:[4am'7
C. 1:46pm D. 1:46am
A Mombasa bound bus lcft Lamu on

" 'Tuesday 7:40pm..The journcy took- 8 i

hours. At what day and time did the bus

get to_Mombasa_ i‘h 24 hours system?
A. 0425hrs Tuesday ;

B. 0025hrs Tucsday
C. 0025hrs Wednesday
1. 0425hrs Wednesday

1
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0 0

o

Diagonal BD is [20cm. What is the arca ol

the rhombus in hectares.
A. 9 600ha

13. 0.96ha

12 000ha

1.2ha

1pis rcprcscnlcd by 4cm.

33. ‘I'heroad onami ‘
- | 2km. what was

Il the actual distance was
the scale used?

A. 1:3000 c
B. 1:30000 "
C. 1:300000

Dy iogch 38. Jacob is four times as old as his son. His

wife is three times as old as the son. Ifthe

—~y

34. Whatis the valuc of the equation b g ] sl b (e
: : " \ 0
' their ages in 12 years (o comc:

4(x+1) I Wore™, s el e
_b_k:.;__.__: 2 3 ] .) I reeey 7 y A 8,\‘ ,;‘ ]2
B. 4x+ 12
1 [ : \ e
AP B 2 _ i
2 L B D. 8x+ 36
B p. 3= ;
Gy o7 iy 39, Osman bought the following items from a

shop.
5 - 500ml packets of milk @sh. 60

35. Acylindrical water tank with a radius of
2kg rice for sh. 240

1.4m’is 4m high. It holds water to a height |

ol 1.5m. How many more litres arges-—se— E e /,(, rs of soap '»_.f,’.’\}f"h' I35
required to fill the tank? "} - E o 2?’/‘: kg sugar @@ sh. -/'2({
A. 6 160l H ’3 $8l 5 3 rolls of tissue @ sh. 25
B. 24 6400l © - 15 Y| A2 E{}]é paid-using 3 - 500 shilling notes, now
C. 9240l ; g’fgﬁw;‘g i’:‘wﬁn éh balance did hc'gct’?
T M e 3

D. 154001 ke

36. A company requires 27 men to do a certain
job in 12 days. Nine of the men failed to
turn up. How many morc days arc required
to complete the job? :

A 18
B. 12
C. 9
D. 6

37. A plot of land is in a shape of a rhom?us
ABCD as shown below,

B. Sh, 30
C.-Sh. 130
D. Sh. 1470
40. A tank hold 800 litres of water. A tap put
-watcer in the tank.al the. rate ofs@.51 per
minute. How much waterwill'be in the tank
after 3 hours? :
A. 4501
B. 1501 -
C. 3001
D. 6001
74] » At Wote town the number of men is 4 249
; morc than women. ‘The number of children
is 12496 more than adults. If the numbcr of
womenis 9 763, what is the population of
Wote town?
A. 237715
B. 36 271
C. 60 046
D. 60 406
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(rays of cggs at sh. 270 per

42. Thediagram below shows a cylindrical block 45. Carol bought 0
atsh. 12. Tow

of wood through which a eylindrical hole has (ray. She later sold cach cgg
much profitdic
A. Sh. 1 620
3. Sh.2 160
C. Sh. 540

D. Sh. 810

been made, | she make?

1S 0l l'ﬂC«'.lSLll'CmCm

which o the tollowng s¢
angled triangle?

can be used to form aright
A, 0.5m [.2m 1.3m
B. 0.8m 1.5m 1.9m
C. 0.6m 1.8m 0.Im

e——28cm—— . D..10m 24m 25m

What is the volume of the remaini ”
: of the remaining block
L e 47, The fable below shows the number of shocs

ol'wood?
A. 6 160cm? sold at bidhaa bora shop.

30cm 40,

B. 17325¢m*
C. 18480cm’ Shoc size 415
D, 1 155e¢m? ¥

Number sold | 18] 21

2
43, Ochiceng spcgt 5 of his salary on food. 2
on rent and ; of the remainder on school - Which ofthe following is the modal shoe size
fees. 1 he was left with sh. 16,000 how sold?
much money did he spend on food? - ‘ A i £
A. Sh. 48 000 P L
B. Sh. 36 000 : 4
C. Sh. 30 000 48. Hassan left town A for town B at 7:00am a
D. Sh. 72 000 distance of 80km. e drove at 60km/h.
o , After driving for 40min he stopped to greet
44, Construct a parallclogram PQRS in which a fricnd for 15min. |l¢ then continucd at
JQRI= PS =7:5¢m and line RS = 4.5cm. the same speed. At what time did he arrive
Al PR = 70°. Diaw the diagonals to - plipwrlif
meet at point X. What is the measure ofthe |- B i
diagonal PR? ‘ B' Lol
& - hdicr C. 8:20am
5 3.7em D. 8:35am
C. 49em ' |
0. B8em - 49 Iixpress 3:5 as a decimal,
-y A. 0.3
B. 035
: C. 0.6
D. 0.75

L-"'P
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50. The graph below shows the journcy by Kasyoki from town A to town B a distance oi 140km.
Afler travelling for one hour he stopped for another one hour to mend a puncture. Ve covered the
remaining distance at an average speed arriving at town B at 2pm.

Town B 140——F+——+—
120 g
100—— ~
;] b
o
£ 5 v
£ s
o aigE Saares -
T 80
= RN NNy L R
o o S 7 ] W
Q
2 —
3 P P
= SV St =il %
5 60;_' S RN -
40— ————
T ‘—; """" S 5 [ _“ ESET FERGH haE SR DRl : i:_ --i
20— A—— —r —— ——1— g
SR s et [ty A i & Sl s o 2T S s o =13
Town A 0 " 0 RPN SSEOTE PR S 2 ¢ Y = =

8.00a.m _ 9.00a.m

10.00a.m 11.00a.m 12noon
Time

What was the specd fot the second part of the journcy?

A.
B.

1
33 3‘ km/h
30km/h

|
; 275km/h

D. 55km/h

1.00p.m  2.00p.m
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‘
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14, 1n which one of the following acuw‘m‘; is !]‘.L%IOH N()i useful?
A. Walking ~ . = ; -

3. Lighting:a match ; ey

C. Pushing a wheel barrow

3. Writing. '

'he correct answer is C- (Pushing a whcc‘ barrow‘}

ey

On the answer sheet;
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‘The following are {unctions of roots

(i) lolding plants firmly in the soil.

(ii) Storage of food.

(iit) Absorption of water and minerals
salts;

(iv) Breathing

Which ofthe Iun(.uons are pcrl”ormcd byall
roots?

A. (i) and (iv) ) ,

B. (1) and (iii)

C. (1) and (iD) ' ‘

D. (i) and (iv).

Which onc of the ['ollowing, 1 diseasc cannot

be px cvented by mamlammg propcr hyg,lcne?

A. Malaria e == 7 el 5

B. Bilharzia :f_“—
€. Cholera

D. Iyphoid S . _

‘The force that hinder: W()Tklb bcetdcscﬁbcd ~

A weight -
gravity-
: mag:,ncu(, _.;}__, : R
D. frlctlon

Do Thi following are characteristics of animals.
(i) Aas a moist skin.
(1)) 1lus external fertilization.
(iit) Ilas scale,
(iv) Ilus a \mqu hody temperature.

Whu,h of the db()vc characteristics describe
acrocodile?
A, (i) and (ii)
B. (ii)and (iv)
C. (iii)and (iv) it 2
D. (i):and (ii’i). T R -

6 - Which one: ()ﬁh{. tollowmg is a sourec ol

walcr and aleo uscd io slorc walcr
. Tank S s :

C Dam T e

Y

Which one of thc fol!owmg componcnts of |

blood is correctly matched withits function |

in thc circulatory syslem" ,-' ._f-_.g, :
Component Function ‘:
Carry dlg_estcd—food '

A, Redcells -
B. Whitceells- Transport waste
: produets. = i —ne
C, Platelets - ircvcnlcnb'yof gclm mto
o thebody. - = = ;
D. Plasma - Transport oxygen From

the lungs to the body. -

: 8 All 1he followmg are myths dl’ld :
rmsconceptmm about HIV/AID& Whlcﬁ I

C By dcactwalmgj bactcna £ i
I) Ktl]mg 1’111(:1'0 orgamr;ms

.’w_q. i |

_oncisnot? . i

A. AIDS is mainly aprcad by 1mmm
“people.: - e

B. AIDS is curse [rom Go d :

- All people with HIV BchAIl)h :

'D. Opportunistic discases mamly ocuur
: dunngfu!liéiomst‘xge - -

,.B RV o 2 s _

D Borcholc " ‘




A plant has the adaptations shown below.

Q. “I'he tooth th= isused for gripping and iearing | 11.
alse .'u‘wc (i) needle-like leaves
A. pointed edge (i) reduced number of stomala
B. cusps and ridges (iii) undergoes dormancy
C. three roots (iv) deep rooted.
2. £ 3
LW Jo0LS, The plant is likely to bc a
gl it “A. millet
10. Whichofthe following is a natural source of B. water lily
light? : C. acacia X
A. Candle D).~ tice: 2
3. Stars s 4
C. Vire - . 12. Which one of the following nutritional
D. Moon. deficiency diseases is mainly caused by
inadequatc vitamins and mineral salts?
& o A. Kwashiorkor )
= - B. Anacmia
C. Marasmus
_ -D. Ricket.
i 3: T hL chart below shows a Mmplc LLchsnLdtmn of drug,s. -
“Drugs
Prohibited A ~ NOT prohibited -
| e
Inhalants N
The drugs labelled Mand N can be best represented by =
. SRR & :
"B Bhang - Alcohol R e B S e e P
C. Heroine | - Cocaine
). Alcohol = - ‘fobacco =
14. Whichof'the following is not true about the 15. Whichofthe following practiccs.con‘scrvcs

functions of the placenta?

A ixchange of food nutrient from mother

to the foctus.

Prevent mixing of olood belwgcn

mother and foctus. _

C. Transfer of oxygen from the foetus to
the mother.

D. Facilitate 1r’msﬁh_, waste products.

(o

eveman

walcr by reusing? :

A.- Pouring water in the garden dflur
washing vegetable, '
Carrying outmulching,

Consiructing dams during rainy scason.
_ Repairing leaking pipe and taps.

&

-
\,

=i o
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21. Whichoneof the following pairs of matcrials

‘hich i s main reas hy Iy arc
6. Which is the main reason why poul ' ‘
: 1 commercial feeds” arce both traris fucent m(:tlmldl ) L

1—-“ ¢l | s & » ‘ i und Sk : 1[

A o increase meat and epgps production 4[/\; (hz]illcl:lup]ilpl;rl‘l s ylig

1K Al
rote n from diseases. \

H'. I I‘U[Lu il blat l C. Frosted plass and windscreen,

e s o1 0. Wood and mirror.

D, They containalot ol libre

sorpti “air take place in which part of
17. ‘1he diagram below shows a simple tool, 22"Q::,::;ﬁ::y:cm? P part of
A. Alveoli
3. ‘Trachca
C. Bronchus
. Wind pipe.

23, Shadows arc formed duc 1o the fact that fight
A. travel instraight line.

3. is bounced back. =

>, is refracted, :

D. travels inalf dircctions. =

Which part represent the fulerum and cffort

respectively? 24, The following arc characteristic sofa ccriam
A. Pand Q - 5 soil. ’

B. Rand P r‘,ﬂ‘-ﬂ .h—_ yy high conillarity

C. Rand Q :; small pusticle

D. Qand P. jm small air spaces

T R | TR soil is also likely (o hd\n. : =
18. Which one of the foliowing is” «.iﬂfw"’ﬁ»mﬁ %L%]owwat“ tcicnuzn

acle . ~ OVE )
adaptation of herbivore Lo fecding? b oundsE antbills

O e T
PR 17O W S

5 ‘U“w hatd pud: Y - 4 . moderate drainage.
fecth grow throughout their life. P conrse fovinn E5es _ S
1), Have modified premolars and moldrs. | 5 i 7 '
: 25, The diagram below shows a simple weather

) i y imnstrument
19. Clouds that are common in low altitude are v

likely to be L S
A. while in colour, , "/ﬁ("‘“ e
13. like bundles of cotton. _ \\Li.— :

. irrcgular in shape.
[3. beasignof finc weather,

4
20). ‘The following parts of digestive system’

: : b DA ST e 3
produces digestive juices, Which one does <
‘) A T 2y ; o -
’/‘\”t'% i . ; When poin? A (s pointing West the arrow
- Small intestine e e ¥ el .
B Stm “1“-5“”- head of s wind vane is pointing toward
. Stomach
X = . A. West
" Larpe intestine ‘ 13, North
1. Mouth e
e : (. South

. Last
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26,

28.

29,

30.

The weed is

A. oxalis _

B. mexican marigold
(. wandering jew e
D, black jack, : g &

Which of the following pairs consist of only

~insulators!

A. Glass and wood.

B. Aluminum and iron

C. Plastic and copper wire.
ID. Rubberand steel wool.

Which onc of the following pairs of plants -

nutrients is correctly classified into minor

~ nutrient and major nutricnts. -

- Minor nutricnts {\ika'lor-hulr_icnls
A. Potassium Copper ..
BB. Sulphur Mang‘ahése :
C. Zinc - Carbon ™
~ Chlorine.

D. Boron

Which one:of the fol!uwmg is the main
rcason ol ndudmg,watcr in ﬂlC-dlC.t?
A. Prevent constipation. —

B. Helpindigestion of food.

C. Help in movement of food.

l). Help in _absomtinn of mincral salts

-

The c!mot am bciow rcr)rcscm a ce i

y

e i

B L Lt
mn\mw

Which oneof'the following is the least likely :

way through which HiV may be spread”
A. Fxchange of saliva. ' '
3. Stxual contact

C. Breastfeeding ' «
D: Biood transfusion '

31

In which one of the following arc the physical

~ changes observed in adolescent girls z}nd

32.

boys is correetly placed?
Boys Girls
A. Hip broaden Growth of pubic hair
B. Pimpleonface  Chest broaden
C. Voicebreaks”  Wetdreams .
D. Releasing of'sex  Fast body growth
cells '

Which onc of'the following pairs ol

Jivestock parasites can be controlled by

~ " cither rotational grazing or deworming?

i,

A. Fleas and ticks.

- B. Liverflukes and tapcwo:m

C. Hookworm and tsetsefly
D. Lice and lungworm

~ Which one of the following isacommon -

characteristic between flea and
grasshopper?

; _/\ Have wings.

3 «Have two body parls - o
Citlave cight legs. A
. iMove by lmpmg A

Vu..‘
Sl

4¥-° 11
"Tﬂ"‘f‘ra‘ctlsmg proper dlSpOSd] of mdusfnan wasic
“will'mainly prwcnl\ho polluhor Gl

A. soil and water,

. ‘soilfandair —
D. air.

~ SCIENCE STD 8 004 2022
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35. ‘The diagram below shows the composition

ofair.

Which of the above shows gases used to
extinguish fire and making bulbs
respectively?

A, Pand N

B. Mand O

C. Nand O

D. Pand M.

36. Whichofthe following substances has the

same characteristic as chalkdust?

A. Oil
B. Candlec wax ﬁ
C. Smoke !
. Tooth paste. ;
i
! M...(
37. Whichonc of the following is a social effect

ol drugs?
A. Loss of'consciousness.
—x i —r»t—«)hv-—.—rr».—.—.-‘--.y‘.__ et

——

C. School dropout.
D. Lack of concentration.

38. Which onc of the following is not a common
communicable disease? -

A. Typhoid :
3. letanus
C. Malana

). Tuberculosis.

39, licattransferin liquids and gascs mainly take
place through- '
A. convection and radiation
B. radiation
C. conduction and convection
). convection

40. Which onc of the following pairs consist ¢f
materials that are good conductors of
clectricity? :
A. Aluminum [oil and rubber. i
B. Wood and iron wirc,

C. Steel wool and penetl
D. Glass and copper wire.,

Which onc of the following factors that
increases soil crosion is influenced by human
being?

A. Quarrying activitics

B. Slopes of'the land

C. Typeofsoil

D, Lack of vegetation cover

41.

42.

Which is the reason for adding farmyard
manure in a compost heap or pit?

A. Introduce bacteria. ;

B. Add nutrients,

C. Nourish bacteria.

D. Allowair circulation

1 - 23

i 1? diagram below shows a set up that

£ : 2 g .

was uscd to investigate a certain property
atter.

: Air tight Drgpofinkaiss
o e Straw

'_ T T k\SOurceL

of heat

;58

After heating for sometimes the following
observation were made except
-~ A. bubbles were scenin the basin,
B. water level in the basin deereased
~ when heating was stopped.
Drops of ink moved toward water in
-the basin. ’
Water level in the basin increased when
heating is stopped.

.

D.

SCIENGE STD 8 004 2022



{4, Which ofhe following is the last stage in 49, Which is the last process that take place

the germination of sceds? during birth in human beings?

A, Bursting of'sced coat. A. Releasc of afterbirth

B. Developmentofplumule B. Dilation of the cérvix

. Swelling of the seed. C. Pushing out of the body.

D. Radicle develop through the 1. Cutting of the umbilical cord,

micropyle.
; 5(. Which of the following processes changes

45. Study the food chain below and answerthe | water vapour into solid form?

question. A. Melting and cvaporation.

Grass— Antelope—> Chectah— Vulture B. Condensation and [reezing.

' ; C. Evaporation and condensation,
What would happen ifall cheetah are killed? D. Freezing and melting.

A. Antelope would deercase and grass
would decereasc.

B. Grass would increase and antclopes
would increase.

C. Vultures would increasc and grass

- would decrease. - il o -

D. Antclope would increase and vultures
would decrease. '

-

46. Whichone of'the following liquids wil-fotm
uniform layer when mixed?
A. Milkand ink
B. Kerosene and water-
C. Water and oil

* D. Cooking oil and milk

47. Thel o'llowing are ways of maintaining simple
tools except '
A. using them properly.
B. cleaning afier usc.

1 C. sharpening cutling tools.

| D). grcasing all (ools.

48. The lollowing are food crops. Which one -
is a cereal crop?
A. Onion ¥
3. Groundnuts
C. Sorghum
D. Cassava.

7 : SCIENCE STD & 004 2022
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PART |: SOCIAL STUDIES
 SOMA AREA
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Study the map of Some area and use it to

answer questions 1 107

Three of the Tollowing are cushitic speaking

8.

proups. Which onc is not? T he
A, Somali

1. Whatis the approximate area of Soma town? B, Bugji
A 26k’ C. Opick
13, 20km’ D.  Dahalo
C. 40km’
D ASkm’ 9. Which one ol the following shows lakes that
2. ‘Ihe land in Soma arcd rises towards were formed through downwarping? Lakes
A Wesl A.  Bangweulu, Kyoga and Chad '
3 North Fast B. Naivasha, Manyara and 'l:nngun)'lku
C. last C. Nyos, Kivuand Bunyonyi
D). North West D).  Gambia, Bilisa and Shakababo
3. Threeof'the following economic activitiesare | 10, Which one of the following is a responsibility
carried out in Soma area. Which one is not? of children in a family?
A. Fishing A. Providing security for the family.
B. Trade B. Being role models to all family members.
C. Lumbering C. Providing basic needs of the family.
D.  Pastoralisin . ‘laking care of family property.
4. Traders in Soma arca obtain their tading = g .
it o i .,.....\{ ,]vl_:wljcl;m- ere contributions of a traditional
A County Commuissioner ¢ llrg!unincm leaderin Kenya. ,
B, County Offices F% ; ‘a }:Je was a prophet who foretold the
C. Chicf's Oflice N {Yuture.
D. Police post N 5::::(1{ e was a great medicineman.
— (‘H‘J) He took part in the long distance
5. “Ihe climate of the northern part of Soma ares trade.
s (iiv)tie offered guidance (o traders who
A, hotand wet wanted (o succeed in business.
B.  hotand dry
C. cool and dry The traditional prominent Ieader desceribed
D. cooland wet above is likely to be
A. Koitalel arap Samoci
6. e most commonly used means of transport B. Masaku of'the Akamba
in Somaarca is C. Sakawa of the Abagusii
A, railway transport . Mckatilili wa Menza
B.  road transport
¢ \\"ulcrwuys 12. Whichoncof'the lollowing groups consists
1. @ir (tanspont of crops grown in traditional agriculture in
7. The seltlement pattern in Soma arei can be Kenya? )
deseribodag ' A, Beans rice and green grams
A, clustered 3. Tea, collee and pyrethrum
B il C. Yams, sweet potatoes and arrow roots
¢ lincar . Maize, colton und bananas
. dense \

STD 8 SSTRE 004 2022.



13. Whoamong the following carly visitors (o
Lastern Africa was both a missionary and
an explorer?

A, Dr David Livingstone
B, Scyyid Said
C. John Spcke
. Carl Peters

« Whic > of the following prehistoric sites is

14. Which oncof the foll o prehist {
correetly matched with the country where it
is found?

A. Omo Basin —> South Sudan
3. Ngoloba -» Upganda
C. Olorgesailic - lanzania

). Nariokotome — Kenya

15. I'hrde of the following statements are true
aboul a customary marriage. Which one is

not? Il

A. takes place according (0 a community’s
traditions,

3. is monogamous

C. isconducted by a council of eldegs:

). is permancnt. ? '

16. Which onc of the following is

carricd out by the headteacher inld (i
primary schoo! in Kenya?

A. Writing down minutes in a school
committee meeting.

3. [Heading the disciplinary comimittee in
the school.

C. Supervising the work done by teachers

at school.
. Admitting new pupils to.the school.

17.

Primay School found two o his schoolmates
arguing over a schoo! bag. “he best way of
helping them resolve the coatiici tor Mutua

i
A. inliating a dialogue between the two
pupils.
. B. reporting them to the nea:est weacher.
C. taking the school bap to the staffroom.
). advising the two pupils o solve the

matter al i court ol law.,

Mutua, a standard cight pupil at Hekima .

18, Anuclear [amily consists of

A. grandpaients, parents and children,
B. aunts, uncles and nephews
C. father, mother and children
D. mother, children and nicees

Use the diagram below (o ainswer
questionl$.

19. The weather instrument showed above is
called
A. Hygromcter
Ancmoranicr
. Ancroid baromeater
‘ ;Six"s thermometer

+20.T o*crs arc transported from horticultural
g e T

LTS to the airport using

A, air ransport

B. railway transport

C. cable transport

D. road transport ’

21,

Which onc of the following combirations
does not show types ol cultural artefacts?
A. Binocuiars, wheelbarrows and pots

B. Gourds, calabashes and swords

C. Slings. baskets aad hoes

D, Earrings, hooks and shiclds.

The miombe v oodiands of Tanzania and
Labwe valicy of Kenya arc sparsely
populated raainly due (o

A, pesis and diseases

B. unfavourable climatic

C. poordrainage

D. govermment policy

STD 8 SSTRE 004 2022



R

<3 The main cconomic activity inthe 1 ake
Victoria Basin is
AL lishing

B crop farmine

Co pastoralism
D, mining

Use the map of Africa below to answer
questions 24 to 27,

T “\ _
= T ‘i\u N )
———
M
_————

.
N

g | Pt
, Id _
B
24, ‘The relief feature marked T is Eg}:,,“
A, Ahaggar mountains Eﬂi{ e
B. Dallol depression
C.  Adas mountains
D. Fouta Djallon plateau
25, The winds marked M are known as
A. Westerlics
3. The North East Trade Winds
C. Harmattan
. The South Westerlies
26. The language group that-dispersed from the

arca marked P is the
A. Nilo-Saharan

B. Khoisan

. Nilotes

D. Bantu

==

27, Ihe country marked N is c;zllcd‘
A, lunisia
3. Algeria
C. Burkina Faso
D. Libya
28. Which onc of the following is nota reason
why Furopean nations scrambied for colonies
in Africa? They
A. wanted to carry out evangelism.
B. wanted raw materials,
C. wanted to settle their surplus
population.
. D. wanted new markets for their
manufactured goods.
29. Below are characteristics of vegetation in
Alrica,
(i) Trees grow close together and are
everareen,
(i) Most of the trees are hardrood
(iii) Trees grow in salty waler,
b(’q) Trees have roots which are aboye the
? ‘gui‘i"’:"?”""l- ‘
etvegetation described above is
Ipine vegetation
Savannah woodlands
JMangrovc vegetation }
D. Temperate grasslands

30, The Organisation of Africa Unity (C.A.U)

was mainly {ormed in order o

A. defend the interests of African states.

B. work for unity and coopceration of
African nations. ‘

C. settle disputes among, member states.

D. removeall forms ofcolonialism from
Africa.

’

31.

The main problem affecting unity in Kenya
A corruption

B. religious differences

C. tribatism

D. poverty
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w

36.

Below are uses of amineral

(i) \Vlaking coins.

(i) Making motor vehicles radiators.
(i) \laking telephone wires.

(iv) Making water pipes.

'he mineral with the above listed uses is
likely to be

A, ourspar
B. sodaash
C. gold

. copper

In the past, most African communitics
interacted through

A. trade

13. intermarriage

(. cames and sports

). war

I hree of the following are types of
democracy. Which one is not?

A, Dircet democracy .{

3. Constitutional democracy .;sf{ﬂw W

C. Parliamentary democracy (1 E B é‘f‘t“

1. Delegative democracy AN |
ﬁ

— ]

One can successfully apply lor Kmlyan-mm
citizenship through registration it he or she

A, is found to have commitled treason
against the state.
3. used fraud to obtain citizenship.
C. has been living in Kenya for aperiod of
al least seven years.
D. gives Kenya's seercts o the cnemies

of Kenya.

Below are factors that favour the growing of

a certain crop

(i) Deep fertile and well-drained soils.

(i} Protection from’strong winds.

(iii) Heavy rainfall aboye 1200mmn.

(ivy lligh temperatures nj between 21°C
and 26°C

I'he factors listed above favour the growing
of ‘
A.sisal

(. sugarcane

1.
5 3

maize -

hananas

‘ 1 S

a1,

38.

I

40.

¢

Use the diagram below to answer

question 37.

The diagram above shows the formation of

Ax
3.

a sca brecze
convectional rainfall
a land breevze

. oceancurrents

The main problem facing dairy farming in
Kenya is

A. drought

B high cost ol production

oor roads
D i inadequatce storage | d(.lllllc

.,_Bc‘low are descriptions and functions of'a

‘?m.ﬁ. e loi}vn in Bastern Alrica.

(i) It is imporiant indusirial town.

(i) It is a lake pori.

(iii) It is a major fishing port.

(iv) Its growth began with the completion
of an hydro-electric: power plant in
the nearby Owen falls.

The town deseribed above is likely (o be

A. Kisumu

BB. Arusha

C. Jinja

D. Addis Ababa

Which one of the following is an cconomic
use of's0il? Soil is used in

A. decorating people during traditional
ceremonics,

B. pottery industry (o make pots.

C. circumcision to make the initiates
cooperate.

. making shrines and alters.
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41.

42.

43.

441,

Lheee o the ollowing are w, s ol managing
slow population growth, Which one is not?
\. Incouraging immigration,

B3, Improving health care,

C.o Inercasing tood production,

D. Providing family planning services,

Fhe main problem wing regional trade in
Alricais

}

- ack olfa common curr cney.
production of similar poods.
political difTerences.

quota system.

W

B.
('\
D.

Lhe best method of fishing in the deep parts
of'the occan is

AL net-drifting
B, purse-seining
C. trawnling

D, long-lining

Which one ol the following multi-purpose
river projects is eorrectly matched with i its

A, Kariba Dam Project-» To p
waler for domesticuse. ¢

main rcason for establishment? j—f 5
royv dcg
i L

L

B. “The Volta River Scheme—» lélLd[‘lCC‘
over-reliance on coal from South ATricas:

C. Theseven-Forks —> Controlling floods
at the lower Tana.

. theAswanl Il”n Dam —=Productionof

water for irrigation,

[he following are ways ol demonstrating
patriotism except

AL participating in corruption deals.

3. obeying the laws ol our t.nunhy.

C. paying taxces.

. keeping the seerets olour country,

i
&
e

~dJ

46.

=

48.

Use the diagram below to answer

guestion 46.

The road sign shown above warns motorists

that

A. they should expecta round about
ahcead. :

B. there may be pedestrians crossing the
road.

C. theroad is slippery.

D. children may be found on the road.

;41, Poultry farms are located around major

Elb n arcas mainly duc to
Al { nearness (o raw materials,
13 avail thility of ready market,
X ‘uvﬁulttb]hl) ol waler,
favailability of other related industiies.

o
]

B

The following are characteristics ol carly
man,

(i) e could make accurate forecusts.

(i) Hewas intelligent or thinkine human -

heing.
(iii) This creatvre walked in an wpright
menner,

(iv) 11e used stone (o make some ools.
(v) lie was called the able man.

Which one ofthe [ollowing combinations
deseribes the Homo Habilis?

A, (Dhand (i)
B. gi)ad(v)
C. (iv)and (v)
D. (¢ and (iit)
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49. Most tourists visit Kenya inorder to
A. enjoy warm sandy beaches.
B. see beautiful seeneries.
C. Tearn about our historical sites.
D, see wildlife,

50.

The main problem facing urban centres in
Kenyais

A, inadequate social facilities.

B. pollution

| C. street familics

| . congestion

1. Nabongo Mumia collaborated with the British
mainly because he
A.
13.

wanted protection against his enemics.
thought the British were not going to
stay for long,

C. had inferior weapons to fight the British.
D, was made a paramount chicf.

The black colour on our national flag reminds

. the peace and unity that holds us
. that we areAfvicans living in K
. our struggle for independence

. about our fertile lands,
| Bzt
Which one of the following traditional
methods of communication was used to relay
messages to very far places?

A, Blowing horns,

B. Usc ol smoke signals,

C. Sending messengers.

D. Beating drums.”

54.

In order to show inclusion of persons with
special needs in the society we should do the
following excent

A. providing caual opportunitics for it em
B. creating fricndly environments.

(. creating nositive altitude

snall peopiv,
1. keeping them away from <

Ui vmad lives,

§5. Which onc of the following countrics 15 .
correctly matched with her former colomial
power?

A. Madagascar
[3. Libya

C. Botswana
D. Chad

— lrance
—» Spain
_» Portugal
— Britain

56. Three of the following arc functions ol the
9
legislature in Kenya. Which one is not’
A. Implementing goverament policies.

B. Approving the national budget.
C. Amending laws,

). Making laws.

57. A group of people appointed by the
Governor to help him manage county affairs
is knownas . _

A. County Strategy Commitice
B. County Service Board
C. County Asscmibly

' -ﬂxuﬂ?TMbO ycotts

N D. County Executive Committec

8 Jn Lhen fight forindependence. the peopic of

; i ﬂie Gold Coast (Ghana) used the following
hods except

B. guerilla war(are
C. diplomacy
D, strikes

59. The main duty the Kenya police is to
A. arrest law breakers,
B. control traffic on Kenyan roads.
C. maintain law and order.
D. guard the Kenyan borders.

60, In Kenya. the cabinet consists of ail the

following excepi

AL the Deputy President

B3, the Attorney General

L4 mcmhuxni navhament,

D. cabinet sceretaries.
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i 64.

65.

| 66.

67.

68.

PART Il

RELIGIOUS

EDUCATION

SECTION A
CHRISTIAN RELIGIOUS EDUCATION

\
Accarding (o Genesis, stories of ereation,
which one ot the tolfowing is true?
AL M was created on the 1th day,

B Bards and sea ereatures were ereated after
man,

CoHeavenly bodies were ercated on the second
day,

DooSeas land and plants were ereated on the

third d'.l)‘.

Which one of the following did not happen after
Adam and Eve ate the forbidden fruit? They
A were cursed by God,

B, tell down and died.

Coowere afraid of meeting God,

DL discovered that they were naked.

Who among the following sons of Noah was
cursed by his father for seeing his nakedness?
A Tlam 3. Shem
C. Japheth D. Cain,

Which one of the following was an outward
sign ollidentification that Abraham ang a7
descendant had entered into a lco
relationship with God? \
A Baptism

C. Circumeision

o

{3
13, chcnl'm:ufc
Ry

b s,
The following statements are true abotit Moses.
Which one is not? Moses was
AL pood leader B. good speaker
¢, prophet D, law giver.

During the Passover night, the Israclites ate

~unleavened bread to show that they were

A. God's chosen people.

B, leaving the painful fife ol Egypt

C. ina hurry to leave Egyplt

. going to spend many day in the wilderness.

The following are characteristics of a certain
man, e was a judge, a prophet and a priest.
God gave him the oppoitunity to anoint the irst
king of Isracl. Who among the following people
is deseribed above?
A. Nathan

Co L

B. Zaddock
. Samuel

Which one of the follewing is the main reason
why-the Israclites demuided for an carthly king
from Samuel? Because

A. Samucl was already old.

I3, they wanted to be fike any other nation.
(. Moses had died s !they had no icader.
1. they thought that CGod was far from them.

i
y(‘ﬂil nLai

A

D. Sacrifi¢ g b

—

{

9

69. Which one of the following is the main reason
why Solomon became a famous king of Isracl?
Le

A. built a temple for God.

3. married many wives.

C. prayed for wisdom to lead the people,

. ‘made friendship treaties with other nations.,

70. Which one of the following miracles was
performed by prophet Llisha?
A, made an axe head Noat.
B. prayed for lire from heaven,
C. stopped rain for three and a halfl years.
D. raised the son of the widow ol Zarephath.

71. Who among the following prophets prophesied
the triumphant entry into Jerusalem of the
Messiah riding on a colt?

A. Micah B. Hosca
C. Zachariah D. Joel.
72. Which of the following statements is true

_concerning John the Baptist?

AiiThe father of John the Baptist was
«/cphaniali.
f’l'hu angel said that John the Baptist would
\be a Nazarite,

G rI'he angel appeared to John's father when
] e g (@)
P g e

=he was looking afier the sheep
D. John the Baptist ate unlcavened bread and
drunk wine, '

73. Which one of the following event was not
taking place when Jesus was born?

A. Joseph and Mary were in Jerusalem.

B. A national census was being conducted.

C. Some shepherds were out in the fields with
their flock,

D. John the Baptist was baplizing people in

river Jordan,

74. Which one of the following is the main reason
why wiscmen from the Last did not go back to
tell Herod where Jesus had been born?

Ao They lost their way in desert.

B. The star led them to a different place.

C. Joseph and Mary took the baby to Lgypt.

. God had told them not to o back to Herod.
STD 8 SSTRE 004 2022



73,

76.

EN

78.

79,

80.

Which of the following was the scecond

temptation of Jesus by the devil in the

wilderness? ‘lTo

A. change stones into bread.

B. throw himsclf down from the top of the
temple.

C. come down from the cross and save

himself.
D. Kkneel down and worship the devil

\
Which one of the following was Jesus teaching
about those who hate us? We should
A. report them to the authoritics.
B. condemn them in public
C. always do good deeds to them.
D. give them the same measure.

The following statements are -found in the

Apostle’s Creed. Which one is not?

A. Lead us not into temptations.

B. I believe in the holy catholic church.

C. He will come to judge the living and the
dead.

D. te is scated at the right hand of God lhc
 father,

“He who has bathed does not need
except for his feet. but he is ¢lean dl[.
you clean, but not everyone of you. .i
Jesus said these words because

A. He knew Peter would deny him
B. Peter had refused to have his fe

t
C. lle knew the one who would betray him.

D. Onc disciple was missing during last
supper. :

Which one of the following happened when

Jesus was taken upto heaven?

A. T'wo angles appeared and talked to the
disciples.

B. The heavens opened up and a voice was
heard.

C. The Holy Spirit came down in form of a
dove,

D. A cloud came down and covered the
disciples.

Which one of the following was the greatest
threat to the carly believers as they preached
to the people?

A. Lack of food

B. Discases

C. Attacks by the wild animals.

. Persecution by the Jewish leaders,

81.

82.

83.

84.

85

86.

87.

Which one ol the following groups consists of
the fruits of the Holy spirit?

FHumility Knowledpe
A.lloy B. | Healing
Preaching [nterpretation
Goodness Humility
C.| Faithfulness D.{ Purity
Paticnce Wisdom
Who among the following people addressed a
large crowd on the day of Pentecost?
A. John B. Paul
C. Peter . Stephen

In traditional African communitics the
ancestors arc greatly respected mainly
because

A. children are named after them,

B. they make the lifc of the living casicr.
C. they are origin of the community.

. they inlluence the life of the living.

Which one of the following is the main rcason
why some communities do not valuc the

e ——eegducation of girls?

Girls arc marricd to bring wealth to the
family. '

Elloys are considered to be brighter than
lgirls.

iiducating girls is regarded as very
expensive.

D. Girls arc supposed to take care of their
younger oncs.

. Who among the following specialist in

1raditional African religion is found in
Christianity?
A. Diviners
C. Prophets

3. Rainmakers
D. Sorcerer

The following statements describe our bodies
as the temple of the Ioly Spirit. Which onc
docs not?

A. . Not engaging in drug abusc.

B, Sccking God’s will for our lives.

C. Using our bodics to praise and worship Him.
D. Using our bodics 1o carn as sex workers.

Tabitha has a habit of cheating her parents that
she needs money for buying the books but
instead she buys sweets and chocolate. Which
one ol the following Christian values docs
Tabitha lack?

A. Humility B.

Honesty
C. Love

D. Goodness
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88. Class 7 pupils were told to clean the
classroom. Jayden is not willing to clean
because he thinks its child labour, Asa
Christian, what is the best action for you to
take?

A. Report him to the headteacher.

13. Do the work for him.

C. "Talk to him about the importance of
work.

. Report him to his parents in the evening,

89. Which onc ol the following is the best
aclivity to carry out for a class eight pupil
who has just comleted school?

A. Visit an orphanage centre to cncourage
the children.

Visit his relatives who lives far in the
upcountry.

Attend discos with his [riends during the
weekend.

Attend drama festival with his friends.

3.
Gl
1
90.

Belore the coming of the white missionaries
inAfrica. In which onc of the fol]omn{“]a es
did the Africans worship? )
A. Churches B. Shrines
C. ‘ITemples D. S)ndgtouu(:rsf::::

SECTION B

ISLAMIC RELIGIOUS EDUCATION
61. Inwhich surah in the holy Qur’an docs
Allah(s.w) advice the prophet (p.b.u.h) that
wherever there is hardship, there is case?
A. Surah Dhubha. 3. Surah Qureish.

C. Surah Inshirah. D. Surah Aadiyaat,

Why did Allah(s.w) curse Abul.ahab, his wifc
and all their wealth? Tle

A. wanlted to destroy the holy Kaaba,

13. planncd the youth to attack and kill the
prophet.

forced people to buy and worship idols.
stuppcd the prophcet from the da’ awa
misston,

62.

34
D.

. Whichone of the following is not a verse [rom
Surah Tkhlas? Allah(s.w) ............
A- themasicr on the day of judgement.
I3. there is nonecomparable to 1Him.
(7. the self sullicient Master.
1. ncither begets nor was He begotten.,

I

e,

a—" rcspond

64. How many chapters are there in the holy

Qur’an?
A. 99 B. 114
C. 86 D. 125

65.

Al-Muawidhatein arc chapters recited from
the holy Qur’an in order to seck for the

of Allah.
A. blessings BB. guidance
C. advice . protection

66. According to the hadith the curse of Allah
befalls many people that get involved in
A. falsctestimony. B. alcohol.

C. fornication. D. theft.

All the following phrases arc used for
thanking except onc. Which onc?

A. Shukran B. Jazaakallah

C. Mumtaaz. D. Ahsantum

67.

68.

Which one of the following is wrong on the
manner of toileting according to the Hadith
of the prophet(p.b.u.h)?

. Recite the dua before entering the toilet.

Enter the toilet with a left foot.
Wash your hands aficr visiting the toilet.
).{ If'somcebody calls Wh]lC in the toilet

ofl

12

69. Which pillar of Islam is also referred to as
“The Pillar™ of Religion™?
A. Swalah B. Shahada
C. Hajj D. Swaum

70. Which suplication is wrongly matched with
the takbira said in Swalctu Janaza?

A. First Takbira - Surah Fatiha.

B. Sccond Takbira - Any other Surah.

C. Third Takbira - Prayer for the Mayyit.

- D. Fourth Tabira - Prayer for Muslims.

" 71. According to the guidance of the prophel on
burrial, the grave should be raised ..
above the ground.
A. onc shibr
C. three shibrs

B. two §hibrs
1D. fourshibrs

72. A muslim woman who loosecs her husband
should stay in 1idda for a period of
A. 3 months 15 days.
B. 2 months 20 days.
C. 4months 10 days.
D. 30 days.

STD 8 SSTRE 004 2022



73. Whoamong the following believers is likenned
to a newly born baby? One who
A. asks for forgiveness 100 times per day.
B. performs Jum’a to another Jum’a.
C. perform five daily prayers.
D. performs Hajja and commits no sin.

74.

Thercare
A. six
C. eight

fardh pillars of Wudhu.
B. four
D. five

75:

Which one among the [ollowing is not an
obligation towards the Mayyit?

A. Ghusul 3. Dafan

C. Kalfan D. Lakkan

76.

every month in the Islamic calendar are
referred to as
A. Ayyamum Maaduutaat
B. Ayyaamul Baith
- C. Ayyaamul Tashriq
D. Ayyaamul Usbu’u

LT

congregation. ‘
A. Agaba

C. Arafa [D. Maqamu Ibrahim

78.

Atccording to our faith, the best form of
justice a boss can do to his servants is

A. give them simple tasks and assignments.
B. join the servants the work they do.

C. pay them on time.

D. pay them only if they sweat.

79,

About Jesus, Muslims accept the believe that
Jesus
A. performed miracles.
"B. died onthe cross.
C. was the son of God
1D, was born in a cow shed.

80.

The following arc all attributes of
Allah(S.W.Tj exeept one. Which onc?
A. Al-Qaabidh B. Al-Baar

C. Al-Muhaimin D. Al-Mustafa

Who are “the Kiraaman Kaatibeen™?
Angels

A. Raqib and Atid.

B. Muukar and Nakir.

C. Malik and Rudhwaan.

. Jibril and [zraiil

81.

"The three consecutive days in the middle of

12

i

v

82. Among these levelsofbelieve and Imaan, who
are those who fear Allah? The :
A.-Muttaquun. B. Qaanitcen
C. Swaaimeen 1. Mu ununin

83. Which one of these business practises is
acceptable in the Islamic Sharia?
A. Hoarding. B. Adultration.

C. Exploitation. D. Monopoly.
84.

The treaty of Hudaibiyya did not keep
peace for a period of ten years as had been
carlicragreed. What action immediately
followed the break of treaty ol I ludaibiyya?
The

A. hijjatul Widaa.

B. conquest of Makka.

C. pledge of Aqgaba,

D. battle of badr.

Nabii Musa (A.S) was received while still
infantin the palace ofa King by a wife called
A. Zulcikha B. Ummul Jamil

C. Asiya D. Tkrima

'O God we have forsaken our souls and if
? 1don’t forgive us we shall have lost™ Nabii
dam (A.S) mentioned this due when they

4 lost their clothings. '

8S.

o T | found themselves on earth.

C. sonkilled the brother. _
D. were attacked by a snake.

87.

Which onc of the following roles was not
practised in the prophet Muhammads’
mosque? A place of

A. business.

B. meetings.

C. planning war strategics.

D. lodging orphans, '

88.

Which one of'the following virtues in prophet
Muhammad (p.b.u.h) attracted Lady Khadija
Lo proposc to him for marriage?

A. Punctuality, B. Honesty

C. Hospitality D. Humility

89. The first rite performed for a new born
baby is
A. aqiqah.

B. naming,
C. circumcision,

. adhaan.
90.

The best way of promolting good behaviour

inschool is by

A.
i B.

W5

£

cleaning the school compound.

participating in football tourmaments.
performing prayers together. ~
participating in debates competitions.
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